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Where the lender requires the security — oWy T TPRa

OVERVIEW

The X773 is now saying that ¥"71 X"9 agree with A0 27, however they are arguing
in a case of 1owWn? ¥ mMYn, whether he is a n"w or a w"w. There is a dispute
between °"w1 and the 1"7 as to the meaning of NawnH 77X M.

- UPNYNY 'o909pa U

“''w explained that 1own? 7°9% M%7 means that M%7 needs it to use it, and deduct the
value of the usage from the loan.

mooIn responds to an anticipated difficulty:
= 9TYIIN 295 NDT PPNINN (3,50 91 IIYD MNP ININT WYY MYUPNY PPN)

And one cannot ask according to °"215, why does the X723 state previously that
our mw» (which maintains that w"w Nowni 5y mYnn) is not according to X' (who
maintains that he is a n"v) -

= 19VNT P98 PN 1PNINN 1PN
Let us establish the mwn in a case where the M%7 is T12wn» 992 PR, therefore he is
a w"w since all agree with 701 27, and the case of X"2 (where he is a n"w) is where 7% Mo
Townb!

mooIn responds:
- *5mma 1D N1IPY 31394 NIYR NINN 9oy PHVRVT NINOT

For the X°3% in our X223 previously (which stated X" X?7 1°n°inn), is according
to 112n, since we have established the 7712%;7 like him -

mooin offers another explanation why the 73w» cannot be discussing Nown? 7% ]’N::S
- 71915 %29 199 1IN NY 7298 PRI Y9N PHNINND N NI N
Or one can also say; if the mw» (which maintains w"w 15wnn ¥ m»an) is in a case

! See mbna 772 *"w1 who (seemingly) explains that X" maintains that the M%7 is not doing a M¥» since (as the X3
states) 190 1R, therefore he is a n"w, while ¥" maintains that he is still doing a Mm%, so he is a v"w.

> mooin is referring to the Xn3 on X,29 which concluded X"92 X27 pnoann Xnmnn X%, The following X723 of the
various 121 R°7 is not X137, since we rule like 727. See the previous 812 ,X? X1 7" NvOIN.

3 According to 7127, who maintains n"w> 77°2K W, there will be no difference, whether 112wn% 9% M1 or not, in
all cases 1wn Yy moni will be a 1w (unless we agree with 9Xmw, which "9 obviously does not).

* See ¥m°1 71"7 '0I0 on the previous TnY.

> The previous answer assumes that the 113777 is like 727, The following answer applies if we maintain the 7971 is 7O 272.
®In a case of 2wn% 7% P all agree that ownn v mvni is (like a 77°2K 9w, who is considered) a w"w according
to 7o 27. See footnote # 5.
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where the m%1 is Nown? 79X PX; ' would not have argued and maintain that the
Mo is a n"w ([especially] since we just concluded 7o 2972 712 PR ¥''D).

mooin offers an alternate interpretation of Nown? % Mon:
- "Pawn 9319 INMDNY N¥IT IORY 1397 PIVAY TPIE YD INIIN 19539

And the 1''1 explained that J72w»® 7°92 %2 means that the 7% does not want
to lend to the m> without a }2wn» -

- S9598 1IN 195NN IDPINY ¥ KT O SN W19
And according to 11"7 w9, it is properly understood that it is not possible to
establish the mawn by 11o0wn? 99 PR 190 —

mooIn finds fault with the 1"o:
- 7597 ¥ KY PIUNRY 75981 NIYYT IWIT AN PR YaN

However the 11"7 w1°2 does not appear to be correct; for the expression 9%

1own, does not indicate so (that he does not want to lend without a 112wn) -
= aYP MNN PaYNN HY RON ONDNY NNIT PNRT 2) DY GNT I

And additionally, that even though the m>» does not want to lend unless there

is a 1own, nevertheless he is performing a X% (and should be considered a w"v) -
:19WNA TWANY Dany XYW 1199 INYAY 1Y PN PV XYY

Since without a 135w he is not obligated to lend, because he is concerned for a
loss, and it is possible with a 732w to remove this concern, therefore it is a 3.

SUMMARY
TOWn? T°7% Mo means either that the M7n uses the 119wn as payment (°"wA), or he
refuses to lend without a oW (17"9).

THINKING IT OVER
By 1ownn 9y mnan if we assume he is a w"w because Tavp mun; is the mxn
granting the loan, or is the Mxn caring for the Nown?

7 Therefore it cannot be considered that his watching the 119wn is a 7% since he is doing it for his own benefit.

¥ The nawn states owni %¥ 157, which indicates that the loan was predicated on the ' receiving a 112wn.

? 715wn? 1% means that he needs the Nown itself (as >"w1 explains); according to the 1" the X3 should have said
words to the effect of NM%7% 1OWH 7% M7, etc.

' Therefore taking the 112w in order to give the loan is considered a mx¥». See “Thinking it over’.
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